Paper / Subject Code: 85502 / Security Analysis and Pogﬁfﬁiio Ma‘rln_jg‘g’(ement‘

Duration: 2% Hours Marks:'75

N.B. 1) All questions are compulsory. R
2) Figures to the right indicate full marks. ;"

1. (A) Multiple choice Question (Any 8) - > 8 Mitks

1) Holding period Return'= ~ X 1000
" Investment !
a) Profit b) Total returns c) Sale price d)Purchaseprice
2) The concept of financial investment means addition to
a) Capital stock b) Future income: c) rate of return drisk o ,
3) Investors who prefer lower returns with known risks rather than higher Returns with
unknowgfﬁ‘sks is ca[lea as_ - ’ sy 4 A s

a. ‘Risk Averse b. Risk aggressive ¢, Risk Neutral d. Active
o is’a speculator who expécts declirié'in price .»
a) Bull ~b)Bear " ¢) Stag’ d)Deer
5) Shares of known and financially sound companies are called as o “
2. Blue chip shares. :'b. Red chip'shares ¢. Green chip shares <. Black chip shares.

4)

-'6) Betaistypeof 3 e
 a.Portfoliorisk b. Systematic risk  c. Usisystematic risk  d. total risk .-
7 - form of efficient madrket reflécts both public and private information
a) Weak .- b) Strong ¢)'Semi-strong d) Bear - NF S
N is a technique of reducinig the risk.involved in-a portfolio;
E 8) Diversification; b) Specificatior; ‘c) Different ; d) Investment
9) Current Ratio = Current-Assets divided by oo ol el
a) Liability .. b) Currefit Liability - ¢) Liquid Liability-~ d) Quick liability
10).Technical Analysis was developed by -
- a. William Sharpe - b. Charlés Dow " c.Treynor  d.Markowitz

{B) Give True or False: (Any. 7 o s 7 Marks
1) Diversification helps to reduce unisystematic tisk. L
2),;l"'Fundam5:ﬁtal. analysis'is a method of evaluating a security.
3y Examples of Profitability ratio’ include cutrent ratjo and quick ratio.
- 4) 'The efficient market hypothesis (EMH) states that the financial markets are inefficient.
-+ 5) Business risk:is example ‘6f unsystematic risk;
6) Jenson meastire is based on CAPM.
* 7) -Stock Matket Index shows the performance of the company .
8)" Portfolio Managerment inVolves changirig the existing mix of securities.
9) Operating leverage represents ability to use fixed operating cost.
10) Time'is important factor for investnjent.

Q&(A) Explgiﬁ conéept of inves‘tméﬁt &its characteristics. 8 Marks
- (B) Explain the phiases of Portfolio Management. 7 Marks
: s OR
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- Q2. (C) The rate of return of stock of SAM Itd and C# /I hd G,
- State of economy are given below com: = 5 ks
. % g 7' ht Sectrrics.
1y o : Probability Retums of. ey S SSe of
1. e SAMLTD% f’r“I\/T TC %
Boom 0.33 .. ) -9
Normal 0.33.% 18 ¢ i N
[ Recession 0,34 15 5% e , X
(a) Calculate the expected retum and standard devrat o of rert" 2 O e b the stock
e v 1 irks
, (b) If you could invest m elther stock but not m both ‘;:eh st“ 2 l"t t‘.{d you prefei ;< rks
Q3) Following infoﬁnation isx,‘z’i'v‘aiiablefréléting to‘L"G ~imited’zad ¥ G limited 15 srks
Particulars ) ‘ LG Limited [PG limitedj '
Equity Share Caprtal (Rs 10 face Value) R'SQIOO lakhs Rs.500.lakhs
Reserves'& Surplus: aft Rs 30 lakhs { Rs 50 lakhs :
12 % Preference Shares * | Rs.1601akhs | Rs 200 Takfs |
i3 br'—\f"‘hi‘p-\'it‘r drﬁf- rc -
IO% Debentures Rs1 00 lakhs i'Rs 150 alf * Mar
Profit after tax Rs 100 lakhs- | 1 Rs 1401z -
Proposed Dlvrdend _Z;a»Rs 70 lakhs Ro 80 f."‘b‘n b
Marhet Price Per Share | Rs.400 Rs: 560714
Current Assets” Rs. 160lakhs Rs 180lakhr
Quickassets Rs 110 lakhis | | Rs 13072k 5]
h "‘Currentv*Li'abilities%;:;f‘ | Rs.80 lakhs‘ ’*'Rs 90 R 'I“' vt
i 3 WHESS Ok W - ¢ 3$Ma
Calcu]ate
() Eammgs per share (ii) P/E Ratro (i) DlVldend ayout I “atic «) Return on Zquity . ares

(v) Current Ratlo o( Vl) QUICk ratro ,(vii) Deb*reqmty 1' 0 ,vnf) Which corr pany - -ood
m 1nvestmg Lo o ;

,Q3) a) Explam d1fferent types of chaxts - 8 Marks

‘ b) Explam the Eff cient Market Hypothe51s 7 Marks
4 g e el
Q4) a) The detarls of three portfohos ate gwen be]ow , L 8 Ivlark:
: STins o

Portfoho . & Average Returns (%) i Beta  Standard Deviatior (%)
SBLID - o = 18,4 P14 T 030

KLTD. 12 0.9 . 0.35

Market Index o 4 e 1 0.25

Compare the portfolios B ltd and K« ltd on performance Usmg Sharbe :Freynor and Jenson
measures and rank the portfohos ‘Risk Free return is 8 %
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b) A Government of India bond of Rs.1,100 each has a. eoupon rat¢: of 9% p.a. and
maturity period is 7 years. If the current market prlce JS Rs. 1020 ‘Find YTM 7Marks &

OR

Q4) a) Explain various Investment Avenues ; " e 8 Marks |
b) What are the different types of nsks o i e 7 Marks

Q5)a). Calculate of Beta S8 E 5 s Ma..r?ké

Year Sachl Ltd Market Return»
18 s
16~ \ 1,7'7”
S U
a4 o 216
17 L8 18

(O S S A O

b) Calculate the Qperatlng leverage ﬁnanmal Ieverage and combmed leverage from | ;
the followmg dafa 2 . TMarks

,Pamculars Xion LTD-" “Yion LTD™
| Output (in'units) 2,00, ooo 3 .11,00,000
Sales (per unit (RS.) _-13.00 . % 2.50 A
Varjable cost per unit ( Rs) 1.00 : A0 [ L50s

Fixed cost ( RS) Rs'f;’so,ooo _ Rs70,000 .
Interest ( Rs) 1 | Rs40,000. Rl 'R520,000-.

| Income tax s [30% ey CF30%

_OR
5. Give shQ_l‘jtb‘notes on,:“(Any threej“ ‘ o ) el 15 Marks

Dow Theory
: 'Arbltrage Pricing Theory ;
Difference between Fundamgntal Analy31s and techmcal analysis
leference between Investment and Speculatlon
Types of mvestors s

o .4>5.w..w =
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